Results tables
With source file listed. To be filed with raw data.
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Database import

1 baza <- read_csv(file = "PK_database/baza_031_PK_loq.csv") %>%

2 filter(compound != "DHNK") %>7
3 mutate (compound = factor(compound, levels = c("KET", "HNK", "NKT"))) %>%
4 arrange (compound, occasion, group_no, timepoint_h, animal_id)

Sample table with data files

1 table <- baza %>

2 select(sample_id,

3 compound, concentration, data_file) %>%

4 pivot_wider(names_from = compound,

5 values_from = c(concentration, data_file)
6 ) %%

7 select(sample_id, matches("KET"),

8 matches ("HNK"),

9 matches ("NKT"))
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